
Question Marks

1 348 + 100 = 1

2 39 ÷ 8 = 1

3 3
5  + 

1
5  = 1

4 4721 − 916 = 1

5 9 × 8 = 1

6 3.56 + 0.08 = 1

7 5 ÷ 100 = 1

8 892 371 − 38 452 = 1

9 62 = 1

10 60 × 5 = 1

11 5
8  + 

1
4  = 1

12 4.5 +2.76 = 1

13 347 ×13 = 2

14 2653 ÷ 7 = 2

Question Marks

1 407 − 30 = 1

2 7
8  − 

1
8  = 1

3 4829 + 3527 = 1

4 3 × 6 × 8 = 1

5 472 × 9 = 1

6 2
3  of 24 = 1

7 67 235 + 4839 = 1

8 40 000 − 600 = 1

9 450 ÷ 5 = 1

10 3.7 × 100 = 1

11 5
6  − 

2
3  = 1

12 3
4  × 3 = 1

13 5728 × 26 = 2

14 356 ÷ 4 = 2

Arithmetic Test 1a Arithmetic Test 1b
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Question Marks

1 291 + 100 = 1

2 92 ÷ 4 = 1

3 5
8  + 

1
8  = 1

4 3117 − 427 = 1

5 12 × 6 = 1

6 57.3 − 0.9 = 1

7 34 ÷ 10 = 1

8 388 293 + 57 295 = 1

9 33 = 1

10 3 × 120 = 1

11 8.02 − 3.5 = 1

12 1
3  + 

1
12 = 1

13 625 × 13 = 2

14 5634 ÷ 5 = 2

Question Marks

1 49 + 60 = 1

2 7
10 − 

1
10 = 1

3 3997 + 1716 = 1

4 62 × 1 = 1

5 316 × 7 = 1

6 2
5  of 40 = 1

7 28 115 − 4629 = 1

8 30 000 + 600 = 1

9 360 ÷ 60 = 1

10 25 ÷ 1000 = 1

11 4
5  − 

3
10 = 1

12 5
6  × 2 = 1

13 2387 × 48 = 2

14 294 ÷ 7 = 2

Arithmetic Test 2a Arithmetic Test 2b
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Question Marks

1 172 − 100 = 1

2 87 × 3 = 1

3 3
10 + 

1
10 = 1

4 5602 − 583 = 1

5 7 × 6 = 1

6 4.92 + 0.08 = 1

7 82 ÷ 100 = 1

8 573 224 − 56 277 = 1

9 82 = 1

10 70 × 8 = 1

11 1
2  + 

3
10 = 1

12 5.8 + 4.62 = 1

13 692 × 17 = 2

14 3774 ÷ 6 = 2

Question Marks

1 482 − 400 = 1

2 5
12 − 

1
12 = 1

3 6241 + 2676 = 1

4 72 ÷ 1 = 1

5 279 × 6 = 1

6 2
6  of 42 = 1

7 59 302 + 3469 = 1

8 80 000 − 500 = 1

9 720 ÷ 9 = 1

10 0.37 × 10 = 1

11 7
8  − 

1
4  = 1

12 1
3  × 8 = 1

13 7649 × 34 = 2

14 772 ÷ 8 = 2

Arithmetic Test 3a Arithmetic Test 3b
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Question Marks

1 294 − 100 = 1

2 72 × 6 = 1

3 7
10 − 

1
10 = 1

4 4703 − 835 = 1

5 9 × 6 = 1

6 7.7 + 0.9 = 1

7 65 ÷ 10 = 1

8 856 321 + 67 239 = 1

9 43 = 1

10 80 × 7 = 1

11 9
10 + 

2
5  = 1

12 6.8 + 3.21 = 1

13 473 × 18 = 2

14 4636 ÷ 4 = 2

Question Marks

1 532 + 300 = 1

2 6
7  − 

5
7  = 1

3 5628 + 4744 = 1

4 45 ÷ 1 = 1

5 572 × 8 = 1

6 1
3  of 57 = 1

7 86 724 − 4773 = 1

8 60 000 + 300 = 1

9 810 ÷ 9 = 1

10 5.9 × 1000 = 1

11 9
10 − 

1
5  = 1

12 7
8  × 5 = 1

13 5338 × 55 = 2

14 408 ÷ 8 = 2

Arithmetic Test 4a Arithmetic Test 4b
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Question Marks

1 717 + 100 = 1

2 69 ÷ 3 = 1

3 4
11  − 

6
11  = 1

4 2184 − 634 = 1

5 7 × 7 = 1

6 8.03 + 0.08 = 1

7 77 ÷ 100 = 1

8 455 734 − 53 762 = 1

9 112 = 1

10 12 × 70 = 1

11 2
3  − 

7
12 = 1

12 4.9 + 5.32 = 1

13 539 × 14 = 2

14 3864 ÷ 7 = 2

Question Marks

1 37 − 30 = 1

2 7
10 − 

3
10 = 1

3 2 + 1976 = 1

4 3 × 8 × 4 = 1

5 498 × 7 = 1

6 7
8  of 88 = 1

7 57 226 + 4879 = 1

8 90 000 − 500 = 1

9 1210 ÷ 11 = 1

10 7.3 × 12 = 1

11 11
12 − 

3
4  = 1

12 3
10 × 12 = 1

13 7209 × 47 = 2

14 672 ÷ 7 = 2

Arithmetic Test 5a Arithmetic Test 5b
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Question Marks

1 187 − 100 = 1

2 91 × 7 = 1

3 1 
6  + 

1
6  = 1

4 3006 − 563 = 1

5 5 × 12 = 1

6 3.5 + 0.6 = 1

7 29 ÷ 10 = 1

8 555 431 + 24 532 = 1

9 63 = 1

10 9 × 40 = 1

11 7
8  − 

3
4  = 1

12 3.97 + 2.6 = 1

13 782 × 15 = 2

14 6342 ÷ 6 = 2

Question Marks

1 167 + 60 = 1

2 11
12 − 

5
12 = 1

3 3996 = 2759 = 1

4 72 × 0 = 1

5 734 × 6 = 1

6 4
5  of 65 = 1

7 57 734 − 8365 = 1

8 30 000 + 700 = 1

9 8400 ÷ 120 = 1

10 675 ÷ 100 = 1

11 5
6  − 

1
3  = 1

12 2
3  × 7 = 1

13 3892 × 62 = 2

14 925 ÷ 5 = 2

Arithmetic Test 6a Arithmetic Test 6b
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Year 5 Arithmetic Half Test Answers

question answer marks

1 448 1

2 4.875 1

3 1

4 3805 1

5 72 1

6 3.64 1

7 0.05 1

8 853 919 1

9 36 1

10 300 1

11 1

12 7.26 1

13 4511 2

14 379 2

Total 16

7
8

4
5

Arithmetic Test 1a Arithmetic Test 1b Arithmetic Test 2a

question answer marks

1 377 1

2 or 1

3 8356 1

4 144 1

5 4248 1

6 16    1

7 72 074 1

8 39 400 1

9 90 1

10 370 1

11 1

12 2 1

13 148 928 2

14 89 2

Total 16

3
4

1
6

1
4

6
8

question answer marks

1 391 1

2 23 1

3 or 1

4 2690 1

5 72 1

6 56.4 1

7 3.4 1

8 445 588 1

9 27 1

10 360 1

11 1

12 4.52 1

13 8125 2

14 1126.8 2

Total 16

5
12

3
4

6
8
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Year 5 Arithmetic Half Test Answers
Arithmetic Test 2b Arithmetic Test 3a Arithmetic Test 3b

question answer marks

1 109 1

2 or 1

3 5713 1

4 62 1

5 2212 1

6 16    1

7 23 486 1

8 30 600 1

9 6 1

10 0.025 1

11 or 1

12 1 1

13 114 576 2

14 42 2

Total 16

3
5

1
2

5
10

2
3

6
10

question answer marks

1 72 1

2 261 1

3 or 1

4 5019 1

5 42 1

6 5 1

7 0.82 1

8 516 947 1

9 64 1

10 560 1

11 or 1

12 10.42 1

13 11 764 2

14 629 2

Total 16

4
5

8
10

2
5

4
10

question answer marks

1 82 1

2 or 1

3 8917 1

4 72 1

5 1674 1

6 35    1

7 62 771 1

8 79 500 1

9 80 1

10 3.7 1

11    1

12 2 1

13 260 066 2

14 96.5 2

Total 16

1
3

5
8

2
3

4
12
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Year 5 Arithmetic Half Test Answers
Arithmetic Test 4a Arithmetic Test 4b Arithmetic Test 5a

question answer marks

1 194 1

2 432 1

3 or 1

4 3868 1

5 54 1

6 8.6 1

7 6.5 1

8 923 560 1

9 64 1

10 560 1

11 1 1

12 10.01 1

13 8514 2

14 1159 2

Total 16

3
10

4
5

8
10

question answer marks

1 832 1

2 1

3 10 372 1

4 45 1

5 4576 1

6 19    1

7 81 951      1

8 60 300 1

9 90 1

10 5900 1

11 1

12 4   1

13 293 590 2

14 51 2

Total 16

1
7

7
10

3
8

question answer marks

1 817 1

2 23 1

3 1

4 1550 1

5 49 1

6 8.11 1

7 0.77 1

8 401 972      1

9 121 1

10 840 1

11 1

12 10.22 1

13 7546 2

14 552 2

Total 16

10
11

1
4

3
12 11 or
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Year 5 Arithmetic Half Test Answers
Arithmetic Test 5b Arithmetic Test 6a Arithmetic Test 6b

question answer marks

1 7 1

2 or 1

3 1978 1

4 96 1

5 3486 1

6 77    1

7 62 105 1

8 89 500      1

9 110 1

10 87.6 1

11 or 1

12 1

13 338 823 2

14 96 2

Total 16

2
5

4
10

1
6

2
12

3
5

6
10 33 or

question answer marks

1 87 1

2 637 1

3 or 1

4 2443 1

5 60 1

6 4.1 1

7 2.9 1

8 579 963 1

9 216 1

10 360 1

11 1

12 6.57 1

13 11 730 2

14 1057 2

Total 16

1
3

2
6

5
81

question answer marks

1 227 1

2 or 1

3 6755 1

4 0 1

5 4404 1

6 52    1

7 49 369      1

8 30 700 1

9 70 1

10 6.75 1

11 or 1

12 1

13 241 304 2

14 185 2

Total 16

1
2

6
12

1
2

3
6

2
34
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